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PUBLIC ADMINISTRATION
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1. Which of the following are true about Kautilya ?
(i)  He was philosopher adviser to king Chandragupta Maurya.
(i)  He has given saptanga theory of state.
(iii) He justified absolute powers of the Monarch.
(iv) Arthashastra is combination of science of wealth and science of government.
Select the correct answer by using code given below :

Codes :
(1) (i) and (ii) (2) (), (ii) and (iii)
(3) (i), (i) and (iv) 4) (i), (i), (iii) and (iv)

2. Which of the following are the features of New Public Management ?

(i) Emphasis on the adoption of managerial practices of private sector in Public
Administration.

(i)  Promotion of competition within public sector.
(iii) Emphasis on results rather than procedures.

(iv) A shift away from management to policy.

Select the correct answer from the codes given below :

Codes

@) (), (i) and (iii) (2) (i), (iii) and (iv)

(3) (), (i) and (iv) 4) (), (iti) and (iv)

3. Match List — I with List — Il. Select the correct answer from the codes given below :
List — I (Authors) List — 11 (Books)
a. Frank Marini i.  Towards a New Public Administration : The
Minnowbrook Perspective

Vincent Ostrom ii. Reinventing Government
David Osborne & iii. The Intellectual Crisis in American Public
Ted Gaebler Administration

d. Richard T. Mayor iv. Public Management in the Interconnected World :
Essays in the Minnowbrook Tradition

Codes :

a b c d
@ i ii i v
2 i i iv
(3) i i iv
4) i iv i iii
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4. Which of the following statements are correct regarding the Third Minnowbrook
Conference ?

(i) It was organized for global concerns like global terrorism, economy and ecological
imbalances.

(i)  Its focus was on structural and functional reforms (2™ Generation Reforms).

(iii) It was global in approach focussing on global challenges and problems of Public
Administration.

(iv) It was chaired by H. George Frederickson.
Answer by using codes.

Codes :
1) (@), (i), (iv) (2) (i), (iii), (iv)
(3) (), (i), (iii) 4 (), (i), (iv)

5. Which one of the following is a feature of an informal organization ?
(1) Legal status
(2) Shared values and common standards of behaviour
(3) Primacy of structure
(4) Permanence

6.  Match List — I with List — Il. Select the correct answer from the codes given below :

List—1 List— 11
(Thinkers) (Criticism of Elton Mayo)
a. Daniel Bell i.  Substituting therapy for democracy
b. Richard Bendix ii. Generalizing the results of Hawthorne study
C. James Hoops iii.  Quality of research was poor
d. S.D. Levitt iv. Adjusting men to machines
Codes :
a b c d
@ v i i
2 iv i i i
(3) i i i iv
4) ii i ivoi
7. Who among the following has given the concept of routinization of charismatic
authority ?
(1) Max Weber (2) Robert Merton
(3) Oliver Sheldon (4) Philip Selznick
8. In order to address the difficulties due to lack of coordination among various
governmental institutions/agencies, the Third Minnowbrook Conference introduced a new
concept of
(1) boundary spanning (2) Inter operability
(3) Inter disciplinary (4) Supportive collaborative research

Paper-I111 4 J-14-16
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@) @), (iii), (iv) (2 (i), (iii), (iv)

(3 (@), (i), (i) (4) (i), (i), (iv)

5. frAfcifad § # 9 s Se o & 2
(1) FuTe TR

(2) TR & HHT AUEUS K HE Go o
(3) XA ot wreItHRar

(4) wnEE
6. gl— | gl — || ¥ GAferd FIT | A T e Bt Ferdr F Tel ST B 957 B
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ERLED) (Tee BAt &t FHTATEHAT)

a. a9 i, i & foTT T 3UER

b. RS dfeam ii. BT % STeEE % UROTHT T G

c. g iii. e T FHHSY TOTaT

d. waE e iv. TS AT % AT gES

FHT
a b c d

Q) iv i i

@) v i i i

@) i i i v

@ i i v i

7. [ 9 9 fordeh R IHcHINGh Tl & AcqehiuNg i STTLRON i fdr a2
(1) ¥ (2) T T
(3)  fferay Heed (4) i Sostte

8. fafr TRl HEM/AT RO & &g TH-oF i HHI & HRUT Scq=T GHEST T GHEM 7 &
fore e fomsyeh Teiet 3 i TR URET & € 2

(1) e feregfa (2) 3R VETEET
(3) 3T fawaTeH® (4) TETF HeANcHE SFTHEH
J-14-16 5 Paper-111



10.

11.

12.

13.

Which of the following is not the method to keep the employee’s morale high ?
(1) Creating an ownership feeling among employees of the organization.

(2) Recognize and celebrate significant work achievements of the employees.
(3) Restraining employees from undertaking any community service.

(4) Train employees to develop friendly culture and positive attitudes.

The processes that account for an individual’s intensity, direction and persistence of effort
toward attaining a goal in an organization is called

(1) Direction (2) Control
(3) Motivation (4) Leadership

Consider the following statements regarding the importance of creativity in decision-
making :

(i) Rational decision maker needs creativity

(if)  Creativity is ability to produce novel and useful ideas

(iii)  Creativity allows the decision maker to more appraise and understand the problems.
(iv) Creativity has three components : expertise, skills and task motivation.

Select the correct answer by using codes given below :

Codes :
(1) (i) and (iii) (2) (i), (ii) and (iv)
(3) (i), (i) and (iii) 4) (), (i), (iii) and (iv)

McGregor’s classic ‘The Humanside of the Enterprise’ is

(i) awatershed in the history of management movement.

(i)  based on his personal experience of industry.

(iii) a most original and seminal book on industrial psychology.

(iv) treatise which has a profound influence on management education and practice.
Select correct answer by using code given below :

Codes :
(1) (i) and (ii) (2) (i), (i) and (iii)
(3) (i), (iii) and (iv) (4) (i) (i) and (iv)

Which of the following reasons is not the justification for delegated legislation ?
(1) Certain emergency situation requires speedy and appropriate action.
(2) Parliament has no time for the consideration of complicated and technical matters.

(3) Certain matters covered by delegated legislation are of technical nature that require
handling by experts.

(4) Delegated legislation facilitates and protects the liberties of the people.

Paper-I111 6 J-14-16
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(1) Feee (2) fEor

(3) fumRor (4) =g

o FmToT ¥ gmeiierd o Hecd o dag | (Heieiad ®ee I foam ]

(i) dfehek UM A STl bl GoTeierdT ol ST Uedl & |

(i) GoFeierar Fai9 T SUART foar faiied o< & aradr & |

(iii) mﬁﬂhﬁﬁaﬁwﬁ%%m e i 3R 3% Jea¥ & o THeH | TeT
|

(iv) GRICTar o o9 g2 & — TaeiuaT, Hivrer X % URoT |

T 5 T et 1 STANT FA Y Tl ST B 9T I ;

FE !
(1) (i) e (iii) (2) (i), (ii) 3 (iv)
(3) (i), (ii) 3 i) (4) (i), (i), (iii) 31 (iv)

HHITR ol Hffted T T gEF AIee 3 T Tees €

(i) Vo= 3T=IeH % Serd i Hecqul e

(i) T o S AT Tl T e

(iii) TN ARfaRT T Tty Hifeish 3R AR 7% € |
(iv) UH qsh ST vy 91T ST Uisha U% TTexT 37 UET |
feAfefad et 1 TanT Xd g el TR T 99T W

- T

(1) (i) = (i) ) (i), (ii) & (i)
@) (i), (iii) 3% (iv) @ () (i) 3% (iv)

ffefad & & -9 HRT g foum & o sravas 7@l & ?

(1) ot emmure feafd & ga o Stad HRaTE Sl STewgehdT &l € |

(2) ifeet der dehin! AHe W R A & o §Eg & O q9g T E |

(3) v e | wniHet $ faua deb-ie! w@ey o & et Fuem faest grr fear st
T |

(4) VST e A ot ST bl gehe ST & qT ST 8T HRAT E |
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14.

15.

16.

17.

18.

19.

Leader-Participation model of leadership is developed by which of the following ?
(1) Robert House (2) J.P. Kotter
(3) Victor Vroom and Yetton (4) R.KahnandD. Katz

Which one of the following statements about Managerial Grid Theory of Blake and

Mouton is false ?

(1) Inimpoverished style managers have low concern for both people and production.

(2) Inteam management style managers have high concern for production only.

(3) In country club management style managers have high concern for people and low
concern for production.

(4) Inmiddle of the road style managers maintain a balance between company goals and
workers’ needs.

Herzberg’s “Hygiene Factor’ of motivation means which of the following ?
(1) Sanitation (2) Maintenance
(3) Responsibility (4) Challenges

Which of the following is not among the values as tests of good management advocated
by Millet ?

(1) Satisfactory service (2) Responsible performance

(3) Good government (4) Professionally approved

Assertion (A) : Administrative law is codified like the Indian Penal Code or the Law of
Contract.

Reason (R) : Administrative law is the most outstanding phenomena in the welfare state.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Match List — I with List — Il. Select the correct answer from the codes given below :

List—1 List—11
(ldeas) (Authors)
a. Bureau Shaping i.  Robert Denhardts
b. ERG Motivation Theory ii. Lord Hewart
C. New Despotism iii. Patric Dunleavy
d. New Public Service iv. Clayton P. Alderfer
Codes :
a b c d
@ v i i i
2 iioivooi i
€) I . v
4) v i i

Paper-I111 8 J-14-16



14.

15.
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17.

18.
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20.

21.

22.

23.

24,

‘The Idea of Digital Era of Governance’ (DEG) is linked to which of the following ?
(1) James M. Buchanan (2) Dennis C. Mueller
(3) Patrick Dunleavy (4) Gordon Tullock

Which one of the following is the basis for creation of Prime Minister’s office ?
(1) Resolution by the Cabinet

(2) Order of the President

(3) An Act of Parliament

(4) Allocation of Business Rules (Govt. of India) 1961

Which of the following statements regarding the Comptroller and Auditor General (CAG)
are correct ?

(1) The CAG can be removed from the office in like manner and on the like grounds as
a judge of the Supreme Court.

(i) The CAG is administered oath as per 2" Schedule of the Constitution.

(iii) The expenses of the CAG office are charged upon the consolidated fund of India.

(iv) The reports of the CAG relating to the accounts of the state are submitted to the
Governor concerned who ensures its placement before the State Legislature.

Select the correct answer from the codes given below :

Codes :
@) (i), (i) and (iii) (2) (i), (iii) and (iv)
(3 (), (iii) and (iv) 4) (), (i) and (iv)

All India Services (Conduct) Rules, 1968 as amended in 2014 include which of the
following ?

(i)  high ethical standards, integrity and honesty.

(it)  political neutrality

(iii) accountability and transparency

(iv) courtesy and good behaviour with the public.

Select the correct answer from the codes given below :

Codes :
Y ON() (2) (), (i), (iii)
(3) (i), (iii) ,(iv) @ (), (i), (iii), (iv)

Which of the following are the functions of the Chief Secretary of a state ?
(i)  The Chief Secretary is the chief of the Civil Service in the state.

(i)  The Chief Secretary acts as a secretary to the State Cabinet.

(iti) The Chief Secretary represents the state in Zonal Council.

(iv) The Chief Secretary is the principal advisor to the Chief Minister.
Select the correct answer from the codes given below :

Codes :
Q) (@), (i), (iv) (2) (i), (iii), (iv)
(3) (), (i), (iii) @ (), (i), (iii), (iv)

Paper-111 10 J-14-16



20. ‘e o fefseet g o foare fferfaa o @ frg @ w=g € 2
(1) Si= A, e (2) 2w geer
(3) ufes et (4) TIET TovAteh

21.  VEHEE HEeE (PMO) % g 1 Heifehd o @ i 91 U STYR € 2
(1) dFHvse 1 ue
(2) gy 1 IR
(3) HEEET HA
(4) 9IRA THR % HE 3TeeA 2 (1961)

22. e U weTehEr Wiets & Tay | e 9 @ HiF-9 S 96 2

(i) YR % e T8 Helei@l WieT i 395 U5 § ool sdl Afd T 3R 3= SRT W &2
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TR TSR ST ST 3eh! T3 o [aaH-Heet & THel T GHRad S |

e 53 T P2l Bl TErEAr Gl TR BT IIT I

FT

) (), (ii) = (iii) @) (i), (iii) ¥ (iv)

3 (i), (iii) 3 (iv) @) (i), (ii) & (iv)

23. 3Ifiger R Far (3TeR0T) femmee, 1968 St 2014 # F9nfyd febu M €, & fr=fataa & 4 @
A & 2
(i) 3= Afd® qFEUS, GeaiEar 3T SAFRRY
(i) IS qeemar
(i) STATERE SR YRS
(iv) ST & 91 BT v 3Tt Feer
e ST 7T P2l B 7SS ¥ Hel ST B T DT

FT
) @, (i) (2) (), (i), (iii)
@3) (i), (i), (iv) (4) (i), (in), (i), (iv)

24. frAfAfad § § 9 T & qF Qiad /! HE/gEE & ?
(i) =3 |foa T~g & fafact AT 1 wgE giar € |
(i) =3 |faa To9 &1 TS arad g g |
(iii) =7 |ioa & F IREg § T 1 WAL H § |
(iv) =T |faa g1 95 1 TE TeHR § |
T 57 T P H FeId F Fel SR BN TG HINT ;
H
@) @), (i), (iv) (2 (i), (iii), (iv)
3 (@), (i), (iii) 4) (@), (i), (iii), (iv)
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25. Article 263 of Indian Constitution deals with which of the following ?
(1) Zonal Council (2) Inter-State Council
(3) Finance Commission (4) Minorities Commission

26. Assertion (A) : The collector has been reduced to the role of target-chaser and a fire-
fighter on behalf of the government.

Reason (R) : The multifarious activities performed by the collector make him almost
indispensable, but at the same time, also make him an over-burdened functionary of
the district.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

27.  Which of the following are the stages in designing training ?
()  To find out the training needs of the organization.
(i)  To formulate a training policy which will meet the needs of the organization.
(iii) To evaluate the financial and material resources that may be required.
(iv) To reduce employee turnover.

Codes :
(1) (i) and (i) (2) (i), (i) and (iii)
(3) (i), (i), (iii) and (iv) 4) (), (iii) and (iv)
28. NITI Aayog is :
(1) astaff agency (2) aline agency
(3) anauxiliary agency (4) aconstitutional agency

29. Which of the following are the recommendations of 2" ARC in its report on local
governance ?

(1)  Creation of a District Council.

(i)  Autonomy of panchayats with regard to their personnel.

(iii) Mergers of DRDA with Zilla Parishad.

(iv) Establishing a local body Ombudsman for a group of districts.
Select the correct answer from the codes given below :

Codes :
1) (@), (i), (iii), (iv) (2) (i), (iii), (iv)
(3) (i), (iii), (iv) @ (@), (i), (iii)

Paper-111 12 J-14-16



25.

26.

217.

28.

29.

IR & GIadM % T 263 l Ffeiad ¥ ¥ f5ad Ty €2
(1) &= aRug (2) TR IREE
(3) ot e (4) FTCTEEF AR

AWHYT (A) : Folde H YHH TeF I & WS I alet T&01 TWHR 3R F qrenst d
e et Tk W o W T & |

% (R) : FoldeR 5N Hoaied SgeTardt Tiafaf= § 39 o STaRer 4 5 €, foheg e &,
3 5761 1 Uk AR & U SRy off a1 fean ¥ |

&2

(1) (A) T (R) 3T W& € @ (R), (A) H T& AR € |

(2) (A T (R) 3 TEl €, W] (R), (A) Ft Tel 1T &l ¢ |
(3) (A) T g, W= (R) Tt & |

(4) (A) 7T &, W (R) @& & |

TAfeiEd 5 © 9 ¥ TROT & ST AT s TEA 7 3 € 2

(i)  HTeT Sl UTSTEToT-STEvAHATST T Ual ST |

(i) U T wfeTeTor Hfq ST TS e i SEvIhand G hi ST T |
(iii) aitoa nfw o Hiids ST P JoaihT

(iv) SHHEART ST 3T H T

fTaiad Fel § ¥ Tel TR Al 989 HI

%

(1) (i) e (ii) (2) (1), (ii) T (iii)

(3 (), (i), (iii) 7w (iv) (4) (), (iii) 7 (iv)

Hfq s E

(1) TUH =IE ATH (2) U T SO
(3) U WRHH TR (4) UH GAHTH IR

TR o ¥ i @ TG e Gt wfdee | 5 T guR STEnT i e € 2
(i) TSTen wRiae #1 T

(i) Ut St ST FIHHT & Gy H WEadr U T |

(iii) = 3R S T H e uRkeg | faom

(iv) Tt & Ush T &q T M Sigeaae st T

T 53 72 e B FerdT ¥ Tel SR BT T BT ;

T

@ (), (i), (i), (iv) 2 (i), (iii), (iv)

@) (i), (iii), (iv) (4) (i), (i), (i)
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30.

31.

32.

33.

34.

Co-ordination and determination of standards in institutions for higher education or
research and scientific and technical institutions is mentioned in which of the following
List of the Constitution of India ?

(1) List I =Union List (2) List Il — State List
(3) List Il — Concurrent List (4) Residuary Matter

95" Amendment Act, 2010 extended the reservation of seats for scheduled castes and
scheduled tribes in the Lok Sabha and State Assemblies for another 10 years is upto 2020
by amending which one of the following articles of Indian Constitution ?

(1) Article 330 (2) Article 332
(3) Article 334 (4) Article 336

The Lokpal and Lokayukta Act, 2013 provides that the chairperson of Lokpal can be
appointed if a person

(i) isor has been a Chief Justice of India.
(i) isor has been a Judge of Supreme Court.
(iii) is or has been an eminent person.

(iv) is or has been a person having special knowledge and expertise of not less than 10
years in certain specified fields.

Select the correct answer from the codes given below :

Codes :
@) (i), (i) and (iii) (2) (i), (iii) and (iv)
(3) (), (i) and (iv) 4) (), (i), (iii) and (iv)

Which one of the following is a direction given to the Union Government by the Supreme
Court of India on police reforms ?

(1) To establish a Police Establishment Board

(2) To outline the procedures for selection of Director General of Police
(3) To constitute National Security Commission

(4) To separate law and order function from the investigating function

Mr. X whose date of birth is 2" March 1955 is appointed as a member of UPSC on 2"
March 2016. Upto which of the following date he can hold office as per the current
constitutional provisions ?

(1) 1-3-2020 (2) 1-3-2021
(3) 1-3-2022 (4) 1-3-2023
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30. 9RA & HiguH @ FEfrad 8§ 9 59 gu 4 3o S Tenet e SFEUH Ud S
TqAT Tehriieh! Gl § Sl o TH-g ol (URoT &l Seoid fepan mar & 2

(1) gl | - e g 2) g Il - T g
(3) g 111 — THadr get (4) erEteT T

31. 953 Gelee aifufHad, 2010 R 9RA & Wou™ & Fefeiad § 9 69 3= ° |9ie &k
TABHAT 3R T TT=-Te § S grad Sidal Ue et o feiu STReior st 3AfaRe 10 oot
T STt 2020 T, T T 51 71T & 2
(1) =% 330 (2) 3TT=% 332
(3) =% 334 (4) =% 336

32. RUT 3R Ak tfafEm, 2013 IUS AT & {6 AR 1 3Tede] UY Al bl e
Topa T Feelt & ST

(i) 9RA H g TEAENT &A@ E |

(i) STaH @& o A § A @E |

(iii) viafted AT A @Y |

(iv) T8 ot fafere & o 60 @ &0 10 99 &1 fomie 37 31X fosiosiar o & AN W@ e |
T 5T T el @ Hel SR BT T BT

FT
(1) (), (ii) = (iii) (2) (i), (iii) & (iv)
(3) (), (i) 3 (iv) (4) (), (i), (iii) 317 (iv)

33. gferd GURI % 91 H WRA o Ioaad IRed 51T §F TR i HEfeiad § 9 1 fFser far mn
g2

(1) 9T TIOAT SIS Sl ST HEAT |

(2) e HRIFSeTeh % =9 St UishaT i Tl ST |
(3) T G SN HT TS HET |

(4) I e o R I S Al G g B |

34, ey weg f5mient st fafer 2 o1, 1955 &, =i 2 AT, 2016 i G oiich JaT 3T o1 qEe g
T ST €, 9% aHe GaHes MaEE & e HEihd ¥ § {69 oty 9% 39 U W w®

Hehell & ?
(1) 1-3-2020 2) 1-3-2021
(3) 1-3-2022 (4) 1-3-2023
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35.

36.

37.

38.

39.

40.

o0 o

Rashtriya Ucchtar Shiksha Abhiyan (National Higher Education Mission) aims at which
of the following ?
(i) Providing greater autonomy to universities as well as colleges.
(i)  Performance based funding to higher education in state universities.
(iii) Improvement in teaching-learning quality and research.
(iv) Bringing about reforms in the existing governance and regulatory systems
Select the correct answer from the codes given below :
Codes :
@) (), (i) and (iii) (2) (@), (in), (iii) and (iv)
(3) (i), (iii) and (iv) (4) (i) and (iii)
An intentional course of action followed by a government institution or official for
resolving an issue of public concern is known as
(1) Public law (2) Public policy
(3) Public statement (4) Strategy
Match List — I with List — Il. Select the correct answer from the codes given below :
List — I (Concepts) List — 11 (lllustrations)

Policy Implementation i.  Hiring police ; building prisons

Policy Impacts (outcomes) ii. Higher arrest and conviction rates

Intended (outputs) iii. Crime rates, feeling of safety and security
. Unintended (outputs) iv. Greater public assistance usage by prisoners’ families
Codes :

a b C d

@ i i i v
2 i i v
3) i i iv i
4) i v
Which one of the following is not a policy typology developed by Lowi (1964) ?
(1) Narrowly concentrated policies  (2) Regulatory policies
(3) Distributive policies (4) Redistributive policies
Stuart S. Nagel has identified four key elements to policy analysis research. Which one of
the following is not one element ?
(1) Goals (2) Outcomes
(3) Methods (4) Profession of Policy
Assertion (A) : Policy making is the ultimate responsibility of the Minister in India.

Reason (R) : The President frames rules for the conduct of business in the government.
Select the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.
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35.

36.

37.

38.

39.

40.

L Faa f¥re e 1 Seva feferfiad 4 @ @ & 2
(i) TeTTcRTemEt qor favafaarer™i s SasT W@Ewdr 3 |
(i) T Tavatormerar & 3oa RTeT & fod e STenRa sl
(iii) 3TEATO AT WREH <l OISR UE SEYE H R AT
(iv) FE=oT ST FEe i HiSET Jomel § guR
T ST e it TErEdr ¥ WEl IR H TG DT
%
(1) @), (i) T iii) (2) (1), (i), (iii) 7w (iv)
@) (i), (iii) 7 (iv) @) (i) @ (iii)
ST W Heifad GRS % FHHEN % ol TR T A1 SeRNE §RT S ST arelt e
PHRATE HI 5T T H ST AT & 2
(1) o fafy (2) @R AT
(3) ik e (4) =g T
Tt — | =t g — || @ gRfea i | e e e el @ wEt S @ T iy |
et - | =it - 11
(SrErgRUTT) (Feer)
a. i R i gfora g, St s T
b. ifq v (Frie) ii. fREaRt v Sufafg & 3=a
c. e (Frid) iii. STORTY ST, AT ! A1ET
d. 3Hf=® () iv. hEl % IRER FRT SR ST &R 1 ITanT
%
a b c d
@ i i i v
@ i i i v
@ i i v i
@ i i v i
frefafad 5 & =1 et (1964) gRT fompiad =ifd afiesor =&t € 2
(1) Hpfad iz =it (2) fafames ifaat
(3) faeRuir Hifqat (4) A Toazone it
T T, AN 7 i [ageiyor 3y & IR T Teget % GedH @i § | Fetatad 8§ 9 S o
HIE T Tl & 2
(1) &= (2) R
(3) wsfa (4) g =gt
iR (A) : 9Ra | Aifq oo § w5 w5 et sifaw e ¢ |

A% (R) : TR % I Yo & 28 Tegard gRT 9T 57 € |
feAiteRd e i WeTaar ¥ Wel IRl =TI HIT ;

&

(1) (A) T (R) I Tel & T (R), (A) i T&l @A |
(2) (A) @ (R) I Tl §, R (R), (A) il Tel = Fal € |
(3) (A)Ter g, W= (R) T & |

(4) (A) Tod &, W] (R) & € |
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41.

42.

43.

44,

45.

Which one of the following methods of data collection helps in collecting supplementary
information about the informant’s personal characteristics ?

(1) Questionnaire (2) Interview
(3) Projective Techniques (4) Content Analysis

Arrange the following statements depicting questionnaire construction procedure in a
sequential order :

(i)  Select the question type and decide on question structure
(i)  Organize the questions into a logical order

(iii)  Select the best wording for each individual question

(iv) Pretest the questionnaire and revise if necessary.

Select the correct answer from the codes given below :

Codes :
@) (), (i), (iii) and (iv) (2) (i), (i), (iv) and (ii)
(3) (i), (iii), (ii) and (iv) 4) (i), (iv), (ii) and (iii)

Assertion (A) : Stratified sampling depends upon simple random sampling and with
another method calculated to increase its representativeness.

Reason (R) : Homogenous universe requires a smaller sample than does a heterogenous
sample.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

“Science begins with observation and must ultimately return to observation for its final
validation.” This statement was made by :

(1) P.V.Young (2) W.J. Goode & P.K. Hatt
(3) F.M. Kerlinger (4) H.Russel

Good usable hypotheses should be

() Related to a body of theory

(i)  Empirically testable

(iii) Closest to things observable

(iv) Related to available techniques of research
Select the correct answer from the codes given below :

Codes :
@) (i), (i) and (iii) (2) (i), (iii) and (iv)
(3) (i), (iii) and (iv) 4) (i), (i), (iii) and (iv)
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41.

42.

43.

44,

45.

3Mehel Wehetd ot FHcRad § & i O oty & Gerrmr &t s faeudret & a) § |1
SRR Teh i § Heg e & 2

(1) WA (2) TR
(3) eIt e (4) rre fowerooT

T FRTOT ik 1 FeroT S et FTeiad et i shideh & H Saierd e ;
(i) U9 % YR BN T Y R T L1 1 o1 of |

(i) w1 Sl dIfhh v H aredd HY |

(iii) T gUs U o foTT Fed SISt b1 99 Y |

(iv) SRTeet S gd ST e SR A SavTe &l ar STH TN #Y |

T 5T U et # | TEl ST A T=T

%

@ (), (i), (iii) 3R (iv) @ (), (i), (iv) 3R (ii)
3) (i), (iii), (ii) 3R (iv) @ (i), (iv), (ii) =R (iii)

AMFHYA (A) : RIS Udea Wt ATGressh U o A1 TE Ui b 0T X T et
& ek gqeh! WS § gig S 5T T |

% (R) : G9EY 1e7 & 1 fooHey 3rea &5 i 10T B¢ Uidaam S S Tedl € |

T4

(1) (A) T (R) IHT &t € 72 (R), (A) H T& AT E |

(2) (A) T (R) IH W&t € W= (R), (A) Tl el = Fai € |

(3) (A) &, R (R) T ¢ |

(4) (A) 7T §, = (R) Wl ¢ |

[T T AT AT ¥ BIaT & A AT UVl o {00 30 31=id: 3Taeiish] &l 31T
AT BIAT & 17 T HUT iR ¥ 9 fohgen € 2

(1) ar g (2) T S UE WH T
(3) TUHTH FAR (4) T wEA

T 3T<ST WA § Al ST Gebed 178 SUehet T (TeAiad § & hi=-91 Tel gn 2
(i) fogra fem @ de6hm

(i)  STTess &9 9 wRieTuia

(iii) sl 2 e & g febe

(iv) I & ford SucTey dehmieh & Teifed

I {58 T Fei H FerddT F Gel SR HN TG HIST ;

T
(1) (@), (i) = (i) 2 (), (iii) 3 (iv)
(3) (i), (iii) 3 (iv) @) (i), (i), (iii) 3 (iv)
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46.

47.

48.

49.

50.

51.

Which one of the following methods of data collection is independent of people’s
willingness to report ?

(1) Interview method (2) Observation method

(3) Questionnaire method (4) Projective techniques

According to Roman Schnur, the emergence of an emphasis on comparative public
administration in America can be attributed to which of the following factors ?

(i) the influence of German immigration since about 1933.

(if)  the translation of the writings of Max Weber.

(iii) the translation of the writings of Karl Marx.

(iv) final entrance of the USA into world politics after 1945.

Select the correct answer from the codes given below :

Codes :
1) @), (i), (iii), (iv) (2) (i), (i), (iv)
(3) (), (i), (iii) 4 (), (iv)

Development, according to Riggs “ is a process of increasing autonomy of social systems,
made possible by rising levels of diffraction”. In the light of this, select which one of the
following is not correct ?

(1) Increasing autonomy means discretion

(2) Discretion means the ability to choose among alternatives

(3) Diffraction means degree of differentiation in a social system

(4) Italso means creating disintegration in a social system.

Which of the following a is not the structural feature of the Agraria model ?
(1) Pre-dominance of a scriptive, particularistic, and diffuse patterns

(2) Stable local groups and vast spatial mobility

(3) Relatively simple and stable “occupational” differentiation

(4) A deferential stratification system of diffuse impact

Which of the following committees made recommendations on the political rights of the
civil servants of United Kingdom ?

(1) John H. Whitley Committee (2) Sir John Whyatt Committee

(3) The Masterman Committee (4) Lord Nolen Committee

Assertion (A) : Two chambers of Congress (USA) are co-equal in their status and
authority, however Senate is more prestigious one.

Reason (R) : Senate has the constitutional right to confirm executive appointments and
judicial nominations and to satisfy treaties.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.
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46.

47.

48.

49.

50.

51.

SRSl WehoT i (Tetiad § 9 i i fafr S §RT Sa™ S & 3os7 9 @as € ?
(1) weehR fofty (2) et fofa
(3) W fafy (4) wEd T

O ¥X GRT SAeHTha [T 7T & T 3TAReR § qorTeAesh ol Jee- I S {68 STH & fort
feAferfEa #rw SRR E

(i) o7 1933 | STHA SVErE 61 T9E

(i) SR SR Sl TTAIST H AR

(iii)  TeT AT B TR HT AR

(iv) a9 1945 & o5 fova T B e T ST il 37cd JasT

T 53 T2 e i FerdT ¥ Tel TR BN T B

FT
) (@), (i), (i), (iv) 2) (), (i), (iv)
3) (), (ii), iii) @) (), (iv)

fog & AR “foehg WIS SHewTel i gl Wadl o UiehaT & Se faad= & dgd T
FRT Ee S T § 17 T e § (Etad § 9 9 et T ¢ 2

(1) et TEar & aad o ¢ |

(2) Tooe = deqd foeheat & s 99 W AT €

(3) o= = dreqd TRt QrATSTeh et o fasieheor ot AT § |

(4) THH! AT TSI e H {aeeT S T ot € |

et o & =, ueht wiaH s o el & 2

(1) R, fafTearRe iR faga afammi st weetdr
(2) TR TR THE T SIS LAH® Teiierdr

(3)  3TUETIRT QM qAT TR SATAITS faigT

(4) TG UM I T [oHEshR SR qoTet

frefafed & ¥ 69 aMfd F gAeee fFTen & ol ¥ashi o TSI STHHRi & dag |
ST 1 & 2

(1) = ua. fageet @M (2) WS T aHia

(3) T OEXEA @t (4) TS AT

AR (A) : FIUG (TR T STARBN) F AT T8 Feafed 3T iR o @A &, wifeh dine
31fyer ufdfted 987 & |
A% (R) : HiHe FI HRUCTE IRl a2 =i FAHE i T H a2 TRt 6 SFHeT H

T G STIHR & |

o TA

(1) (A) T (R) 3T @& € @ (R), (A) T8 AR ¢ |

(2) (A) @ (R) I Tl §, R (R), (A) il Tel = Fal € |
(3) (A) T &, W< (R) T & |

(4) (A) Tod &, W (R) W& & |
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52.

53.

54.

55.

56.

Which one of the following is not the qualification for the President of USA ?
(1) He should be a natural born US citizen.

(2) He should have attained atleast 35 years of age.

(3) He should be a US resident for atleast 10 years.

(4) He should not have completed two terms of the Presidency.

Which of the following is not a feature of the Pendleton Act of 1883 ?
(1) Itabolished the Jacksonian spoils system partially.

(2) It firmly established the merit system.

(3) Itestablished the United States Civil Service Commission.

(4) Its actions are subject to judicial review and can be declared void.

Which one of the following is not the result of the Bretton Woods Conference held in July
1944 ?

(1) Articles of Agreement to create IMF

(2) Articles of Agreement to create IBRD

(3) Recommendations for international cooperation.

(4) Recommended a proposal to create WTO in coming years.

Match List — I with List — Il. Select the correct answer from the codes given below :

List—1 List— 11
(Model of Social Administration) (Originated in the country)

a. Familial model i. The USA
b.  Residuary model ii. The USSR
c Mixed economy model iii. France
d.  Socialist model iv. Germany
Codes :

a b C d
@ i ii i v
2 i iv il
3) i iv i
4 aiooivoi i

Gender discrimination is prohibited under which of the following provisions of Directive
Principles of State Policy ?

(1) Article 39 (2) Article 40
(3) Article 41 (4) Article42
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52.

53.

54.

55.

56.

Favafotiam  © 7 ST T AR A e e A 3 2
(1) TIo T AR § Whfaeh &7 9 U1 g7 AN e 91t |

(2) ST HFATHFAISTTH AT A H T |

(3) E T T THRHT T HH F FH 10 99 1 Hardr € |

(4) 39 T UK o & HASC B QU T HAE |

e & @ wrar 1883 & Ugeled aifufam =i faferedr & ¢ 2

(1) ST BT Bl o[- TEIE YOl i 797 T T |

(2) TEA IEICAT SRS FOTC T gl & T e |

(3) TEH FARES WH fAfaet Afew HHIYH i T Fl |

(4) =T B 1 YA & 3T & 3T T ST =i {5 ST gehel € |

freferfad & & i SomE 1944 T 3TN sie 58 e 1 TRom =&l ¢ ?
(1) TR TST I B TS A & HIRAE

(2) ST YAMHTOT TS [T S 1 T FA & HIRAT]

(3) STRLT HeanT o forar faehiieet

(4) AT At fova SR e 1 e fhd SH & UK i [wier S T

Tt — | =B et — |1 ) Al i | e e e el @ et e B wEe i ;
= - | = - 1
(AT WTE % UfaHT) (I3 STET THERT IEHA F2T)
a.  HNETRE HiqH= i JuwET
b.  3URTE HiqHH . JTETE R
c. Ty srieaen ufamm ii. W
d

TSR] TTaHH iv. ST

ET

a b c d
@ i ii i v
2 ii [ iv i
(3) i i iv i
4) i v i

T & Fifd ST ol o o UTae™ & 31T irTeh foraear 1 foey foham man € 2
(1) & =339 (2) =T 40
(3) oFT=T4L (4) =T 42
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57.

58.

59.

60.

61.

62.

Which one of the following is excluded from the jurisdiction of the Department of Social
Justice and Empowerment, Government of India ?

(1) Scheduled castes (2) Scheduled tribes

(3) Economically backward classes (4) Socially and educationally backward classes

When was the Central Social Welfare Board established ?
(1) January, 1953 (2) August, 1953
(3) October, 1953 (4) August, 1954

Under National Health Mission community volunteers are called ASHAS. In this acronym
first and last ‘A’s stand respectively for which of the following ?

(1) Active and Assistants (2) Accredited and Activists
(3) Accredited and Actors (4) Active and Attendants

Which of the following statement is incorrect regarding the Competition Commission of
India ?

(1) It was established in 2003 for the first time.
(2) Itreplaced the MRTP Commission.
(3) Itstenure is 3 years.

(4) It is a tribunal to monitor healthy competition between the indigenous and foreign
companies.

Which of the following statements about the industrial policy reforms introduced in India
is not correct ?

(1) The number of industries solely reserved for public sector is drastically reduced to
three.

(2) Industrial licensing has been almost abolished.

(3) Investment by large industrial houses need a separate clearance under the MRTP
Act.

(4) A new competition law has been put in place to regulate anti-competitive behaviour.

Which of the following is the launch date of Mid Day Meal Scheme ?
(1) 15 August, 1994 (2) 15 August, 1995
(3) 26 January, 1994 (4) 26 January, 1995
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57.

58.

59.

60.

61.

62.

frfefad § 9 68 R TR o | =T Te AT fovnT o e & 9 a6l 3@l
e ?

(1) oFgrad s (2) ITIEMEA ST
(3) onfees =9 & fumer (4) QrIfSTeR T 9T w7 9 fuser

ST THST HodI0] HUSH she Tiud femar mar o1 ?
(1) SHeR, 1953 (2) arTE, 1953
(3) @R, 1953 (4) 3T, 1954

T e THYM % Said ArRIas aaaet i 3T (ASHA) &&T 11 & | 38 uRavt v |
wor U 3w ‘A’ HEen Tt | 9 e o veeR gen € 2

(1) vl wwe TER=H (2) Ushlels Ug Uy

(3) whiece Ue used (4) uieed we we=d

TRAT UTTETET 3TN &% SR | Shi- | FHU TToid & 2

(1) TTH TFIT TR AT 2003 F Hf 7T |

(2) TH THIUHR SR eIy ATMNE e (TH. 3TR219) ST i ufawenfud e ¢ |
(3) TTH FHEHA 3 T HIEIA & |

(4) = 30 ud faRel Uit & g T uiqaTar st FRET 8 U =T § |

frefefEd § & SF-91 o 9IRa | Y U T ST ifd GuRi & an ¥ ¥ 7@ ¢ ?
(1) HESTeR & % [T o T 9 AR ST bl G T [h I w8 |
(2) 3TN ATZEH TOTCl oI ST & T € |

(3) o AR TET §RT FE¥T & 6T UshIiehR Ue Uidqeied SR SFaer AT & sT=id
3T W TSI T e bl STIHAT ¢ |

(4) TRufaErT eER ®i fafaira e % e ue T uiaeet s aE T e

TeATe IS I 3 TR Tater st IR foha T 2
(1) 15 30T, 1994 (2) 15 amTed, 1995
(3) 26 SFeRI, 1994 (4) 26 STaRt, 1995
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63.

64.

65.

66.

Foreign Direct Investment aims at

(i) increase in the total volume of investment in the economy.
(i) improving production technology.

(iii) increase in access to world markets.

(iv) generating faster industrial growth.

Select the correct answer from the codes given below :

Codes :
@) (), (i), (iii) and (iv) (2) (i), (iii) and (iv)
(3) (i), (iii) and (iv) 4) (i), (i) and (iv)

Which of the following committees have suggested the separation of developmental and
regulatory role of the district collector ?

(i) G.V.K.Rao Committee

(i)  Ashok Mehta Committee

(iii) Balwant Rai Mehta Committee

(iv) L.M. Singhvi Committee

Select the correct answer from the codes given below :

Codes :
1) (@), (i), (iii), (iv) (2) (i), (iii), (iv)
(3) (i), (iv) 4 (), (i)

In last round census identified slums in India in three different types. Which one of the
following is not included in the categories ?

(1) Identified (2) Notified
(3) Recognised (4) Upcoming

The vision of the Ministry of Panchayati Raj includes which of the following ?
(1) To make PRIs an effective, efficient and transparent agency for local governance.
(i)  To make rural local government a tool for social change.

(ili) To make PRIs an efficient vehicle for public service delivery to meet the local
aspirations.

(iv) To create a vibrant interface between the PRIs and rural people through Gram Sabha.
Select the correct answer from the codes given below :

Codes :
@) (i), (i) and (iii) (2) (i), (iii) and (iv)
(3) (i), (i), (iii) and (iv) 4) (i), (i) and (iv)
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63.

64.

65.

66.

(i) or=aen o (e & Fot ae § gig S
(i)  ScIe Wenfient § gorR FHET |

(iii) Tova AR q% 9§ § ghg AT |

(iv) TR T=ifiTen faehr gietd e |

e 53 T P Sl FEET T Gt SR BT A5 HITC ;

FE !
) (0, (i), (iii) 37 (iv) () (i), (iii) 31 (iv)
(3) (i), (iii) ¥ (iv) 4) (i), (i) 3% (iv)

fr=ferfad o @ foe afafaar 7 fSem weigex ot fawmes o fafames Jfasr & geaeassor
geng fear € 2

(i) ST 9t % e |

(i) 3Tl Hear |fHfd

(iii) ST T HedT @t

(iv) ot um, fawe gt

T 13T %t H T el IR A =TI HIIT

B

@) @), i), (i), (iv) (2) (i), (iii), (iv)
(3 (i), (iv) 4) (1), (i)

fUset T &l SHOET | 9RA | Afeld SRl ot e YRR § Ted ot TR & | eEfeieg 9§ 9
I 37 AT H I TBl & ?

(1) iR (2) e

(3) HFIAI (4) SRAEE

feAfefEd & | i TaEdr TS HaTerd i 3T=gie | IHe € 2

(i) Ot ST WA T I o ol T, W SR TRERI $ehTS ST

(i)  TTHIOT TR IEA St QAT IR & ford arem S e

(iii) T G T SRS B W A & TS A Y IR e et I HEE 6

HETH dle g1 |

(iv) oM T % HreEE F UEEd ST GIET q9T UTHIOT ST 3 S St STaares St
EZGI

T 52 e Ff Teraar & Wt 3T N TG HIT

T4

@ (i), (i) 3 (iii) @ (i), (iii) 3R (iv)

3 (), (i), (iii) 3R (iv) @ (), (i) =R (iv)
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67.

68.

69.

70.

Which of the following instruments are used in the process of social audit ?
(i)  Open hearings in public meetings

(i)  Campaigns of voluntary organisations

(iii) Right to Information Act

(iv) Citizen Charter

Select the correct answer from the codes given below :

Codes :
@) (), (i) and (iii) (2) (i), (iii) and (iv)
(3) (i), (i), (iii) and (iv) 4) (i), (iii) and (iv)

Assertion (A) : India’s rural development agenda is still devoid of bottom up approach.

Reason (R) : Trust, empathy, aspiration and empowerment are the key to improve the
lives of rural communities.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Arrange the introduction of following development programmes in an ascending order by
using codes given below :

(i)  Atal Pension Yojana

(i) Jawaharlal Nehru National Urban Renewal Mission
(iii) Indira Awas Jojana

(iv) Deen Dayal Upadhyay Gram Jyoti Yojana

Codes :
(1) (i), (i), (iv), (i) (2) (i), (iii), (i), (iv)
(3) (i), (i), (i), (iv) 4 (i), (iv), (i), (iii)

How much weightage is accorded to the population as per 2011 Census by the Fourteenth
Finance Commission in horizontal devolution formula devised for allocation of funds to a
state ?

(1) 25 percent (2) 17.5 percent
(3) 15 percent (4) 10 percent

Paper-111 28 J-14-16



67.

68.

69.

70.

HIITTeh 3TSheT0T <l Uik | fAfeAiad o & iF-Y SO ol T o ST & 2
(i) QST Trel § gell gAars

(i) Wrs® e & AN

(iii) SFREAT SRR STaEe

- o o
(iv) AT SEhRIA

T 13T 7T et | W TEl 3T H TI HA

%

@ (i), (ii) 7= (iii) @) (i), (iii) 7 (iv)
(3 (), (i), (iii) T (iv) (4) (i), (iii) T (iv)

B (A) © WRA % W7 foehra Toiel § vt ot FeEE (e ¥ F) geehior et 7@l |
% (R) : Tavem, Tamfd, STehiel T FeIieRTHoT AHI0T THIET & e & GER 1 $otl & |
ET

(1) (A) T (R) I T&l € 721 (R), (A) i T&l A E |

(2) (A) @ (R) 31 Tl €, R (R), (A) 1 T&t ST &l ¢ |

(3) (A) Wer g, W= (R) T & |

(4) (A T &, g (R) W& € |

Tt fosrr sEwar o & 63 STH & dag § 99 53 7 %2 * GeFar ¥ 576 e
A T FARRId HifT

(i)  37ect U9 AR
(i)  STAERCAeT F6% AL e Felrehor e
(iii) =T STmar FT

(iv) < ST Ut U ST AT

FE !
@) (i), (i), (iv), (i) (2) (i), (iii), (i), (iv)
(3) (i), (ii), i), (iv) ) (i), (iv), (i), (iii)

fordlt Y5 o ot Aty aTeifed i 99 @iged fax 3TN §RT 910 70 &fdst Siawor 9 & 2011
I STAUET &% SR STHET 3 itnRd 5 9 foha=n wewer o mn & 2

(1) 25 ufera (2) 17.5 giaerd
(3) 15 wiqe (4) 10 v
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71. The concept of ‘Public Policy’ is not dealt by which of the following ?
(1) Harold D. Lasswell (2) William Dunn
(3) William A. Niskanen (4) Thomas R. Dye

72.  Which one of the following statement is a characteristic of systemic agenda ?
(1) Itisalso known as “‘action agenda’.
(2) Itisrelatively more specific and concrete.
(3) Itrefers to all social problems that demand public attention.
(4) Itcontains a set of problems requiring serious consideration.

73. The ‘most senior civil servant’ in a department of United Kingdom is designated as
(1) Principal Secretary (2) Permanent Secretary

(3) Special Secretary (4) Cabinet Secretary

74. Match List — I with List — Il. Select the correct answer from the codes given below :

List—1 List—11

(Country) (Central Planning Machinery)
a Great Britain 1. No centralised planning body
b. US.A. ii. Economic Advisory Council
c France iii. Planning Commissariat
d. Japan iv. Economic Planning Agency
Codes :

a b C d
@ i i i v
2 ii i ivoi
3 i v i
4) iv i i

75.  Which one of the following schemes provides financial assistance to rural poor for
construction of their houses ?

(1) Indira Gandhi Matritva Shayog Yojana
(2) Indira Awas Yojana

(3) Rajiv Awas Yojana

(4) Jan Awas Yojana
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71.

72.

73.

74.

75.

feifeRa & @ fhem “rep it &1 FHae et o € 2
(1) e S aHae (2) faterm &=
(3) faferaw ©w fraemr (4) o9 AR, TE

frfefad & | I |1 2 HeTTd HIEgE H U a9 & ?

(1) =9 foparcaes gt & &9 H of ST a1 ¢ |

(2) TE qEFTHS TT T &7 AR 3R A edr ¢ |

(3) FE 3 QI HIHISTeh AT hi [T T & 5 U S &AH1hyoT 3TafeTd & |
(4) =OH TS H e el € I W TRIRagEs e R S Sea ©

FATEeE T & faumT & wed aitee dish Yae ot Fifehd § 9 foh A & a1ffed fopar e & 2

(1) oo dshedt (2) WEFT ket
(3) 9IS Hohedl (4) HfeHe okl
AT — | B gl — || 3 T Gl ST | e 753 T8 el b Ferddl d Gel SR 61 99 HIvTT
= - | = - 1
(&) (st Fraitort w=)
a.  Uefos i. I Hisapd FESH feE @
b. JTHT ii. oM geTEsRt aRus
c. wid iii. RS g™
d. <M= iv. 3T T ek
H
a b c d
@ i Qi i v
@ i i v i
@) i v i i
@ v i i

frefafed & @ SH-9 Wi & =TT AET TR B THF I & O e S TaE
e mam & 2

(1) 3= el AT FeanT I
(2) =R T TS

(3) ST e IS

(4) SF 3TE IS
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